MEMORANDUM

DATE: November 19, 2020

TO: Mayor & City Council

VIA: Mercy Rushing, City Manager

FROM: Cindy Karch, City Secretary

SUBJECT: Discuss and consider action on a purchase to Peacemaker Technologies

LLC for software and equipment for police vehicles in the amount of

(X)

\$67,050.00

Background Information:

The City of Mineola Purchasing Policy, section 4.4, Procedures for Purchases of \$50,000 and over, requires that the City Council approve any purchase of \$50,000 and over and that the user Department Director shall be responsible for recommendation and preparation to the City Council.

The city applied for and received a grant for the Coronavirus Emergency Supplemental Funding (CESF) Program and has accepted a quote for equipment. The vendor for this product is considered a "Sole Source Vendor" so competitive bidding is not possible for this product. Please see the attached grant information, quote, invoice and sole-source certification letter.

Recommendation:

It is recommended that the council approve the purchase of \$67,050.00 to Peacemakers Technology for equipment for police vehicles.

Final Disposition:



July 1, 2020

Leslee Martz
Peacemaker Technologies, LLC
1308 Common St #205
New Braunfels, TX 78130
(866) 222-6660 ext. 700
l.martz@peacemakertech.com

Subject: Letter of Sole Source Authorization – DT311Y Anti-Microbial Version

Dear Ms. Martz,

This letter is to confirm that PEACEMAKER TECHNOLOGIES, LLC located at 1308 Common St, Suite 205, New Braunfels, TX 78130 is an Authorized Premier Resell Partner for DT Research tablet product platforms and is the sole source provider of the DT Research 311Y anti-microbial version 2-in-1 Rugged Tablet for state, local and municipal government entities. PEACEMAKER TECHNOLOGIES, LLC is a partner in good standing and this agreement is reviewed annually. If there are any questions regarding this authorization, please contact me using the information provided below.

Sincerely,

(42 Jan)

Howard L. Pace National Business Development Manager DT Research (214) 282-3411 howard_pace@dtri.com

Print This Page

Agency Name: Mineola, City of

Grant/App: 4171701 Start Date: 7/1/2020 End Date: 6/30/2021

Project Title: PPR (Prepare Prevent & Respond) Project

Status: Active Grant

Budget Details Information

Budget Information by Budget Line Item:

CATEGORY	SUB CATEGORY	DESCRIPTION	oog	CASH MATCH	IN- KIND MATCH	GPI	TOTAL	UNIT/%
Equipment	Specialized Computer Software	This Software package was created as a mobile data video conferencing platform for law enforcement was designed to facilitate technological assistance to mitigate the threat of COVID19 and related threats to Public Safety. If an officer is sent to a minor call, they may use this technology to respond to the incident, take the report via Peacemaker Live and with no exposure to COVID19. This technology System Package including a mobile data video conferencing platform (All components are ANTIMICROBIAL which acts as a second line of defense for first responders) that serves as a Public Service Response Module is a life-saving tool for our first responders and the only long term and sustainable antidote to COVID19 for now. \$7,450 system packages each x 9= \$67,050.00 This system includes an Antimicrobial (all components) 3" Rugged Tablet (256 GB SSD, 16GB RAM, Wi-Fi, Bluetooth, GPS, 2D Imager) Vehicle Mounted Backlit Keyboard Industrial Detachable Keyboard Powered/Locking Docking Station w/USB Computer Mounting System - Vehicle 12 Volt Computer Power Supply Vehicle Power Distribution Unit w/. Timer and Wiring. Harness 4" Thermal. Printer 4" Thermal. Printer Mount w/. Headrest	\$67,050.00	\$0.00	\$0.00	\$0.00	\$67,050.00	9

		Support 4". Thermal Printer. Power Supply and. USB Cable 3 Year No. Fault Tablet Warranty. External Cellular. Wireless Modem w/. Wi-Fi, GPS						
Supplies and Direct Operating Expenses	Project Supplies (e.g., binocular, battery, flexicuff, drug testing kit)	12 bottles @ \$45.00 =\$540.00 Glissen Chemical Nu-Foamicide EPA Registered 1-Gal All Purpose Cleaner Concentrate, Makes 32 Gallons of Disinfectant/Detergent/Food-Contact Sanitizer/Virucide, Industrial Commercial Grade 5 BOXES CONQUEROR EYEWEAR, BLACK FRAME CLEAR LENS 35.14 X 5=175.70 50 cases of MiDKNIGHT NITRILE EXAM GLOVE, SMALL @ 120.70 X 30=3,621.00 50 CASES MIDKNIGHT NITRILE EXAM GLOVES MEDIUM @ 120.70 X 30=3,621.00 50 CASES MIDKNIGHT NITRILE EXAM GLOVES LARGE @ 120.70 X 30 CASES=3621.00 50 CASES MIDKNIGHT NITRILE EXAM GLOVES LARGE @ 120.70 X 30 CASES=3621.00 50 CASES MIDKNIGHT NITRILE EXAM GLOVE XXLARGE @ 120.70 X 30 CASES 3621.00 50 CASES MIDKNIGHT NITRILE EXAM GLOVE XXLARGE @ 120.70 X 30 CASES 3621.00 50 CASES 3M 1860 RESPIRATOR N95 MASKS SMALL 24.64 X 30=739.20 30 CASES 3M 1860 RESPIRATOR N95 MASKS SMALL 24.64 X 50=739.20 25 FLUIDSHIELD PROCEDURE MASK 15.30X 25 = 382.50 1000 EACH P2 IMPERVIOUS ISOLATION GOWN UNIVRSAL SIZE 1.77 X 1000=1770.00 20 CASES EPIC COVERALL WITH HOOD AND BOOTS XLARGE 97.59X 20=1951.80 5 BOXES LIGHT VISION 2 EYEWEAR @ 176.92 X 5=884.60 300 EACH 3M AVAGARD INSTANT HAND ANTISEPTIC 3 OZ @ 3.74 X 300=1122.00 200 EACH SAFETEC INSTANT HAND SANITIZER X 3.24 X 200=648.00 500 EACH	\$30,292.00	\$0.00	\$0.00	\$0.00	\$30,292.00	

	INFECTIOUS CONTROL KIT @ 4.57 X 6,855.00=30,292.00						
Supplies and Direct Equipm and/or Operating Expenses (\$5,000 less per	Plastic Spray Bottles for Liquids. 2 @ 550.00 =	\$1,100.00	\$0.00	\$0.00	\$0.00	\$1,100.00	0

You are logged in as **User Name**: Ckarch

Peacemaker Technologies

1308 Common St #205 New Braunfels, TX 78130 US (866) 222-6660 Orders@peacemakertech.com



ADDRESS

Cpt Dusty Cook Mineola Police Department 300 Greenville Hwy Mineola, Texas 78773

SHIP TO

Cpt Dusty Cook Mineola Police Department 300 Greenville Hwy Mineola, Texas 78773

Estimate 1104

DATE 10/06/2020

EXPIRATION DATE 12/31/2020

SALES REPRESENTATIVE

Leslee Martz

DESCRIPTION	QTY	RATE	AMOUNT
Peacemaker Technologies MDC Package - 13.3" Tablet	9	3,750.00	33,750.00
13.3" Rugged Tablet (256 GB SSD, 16GB RAM, WiFi, Bluetooth, GPS, 2D Imager)			
Vehicle Mounted Backlit Keyboard			
Industrial Detachable Keyboard			
Powered/Locking Docking Station w/ USB			
12 Volt Computer Power Supply			
3 Year No Fault Tablet Warranty			
4" Thermal Printer (4230) - Package - Mount	9	1,000.00	9,000.00
4" Thermal Printer			
4" Thermal Printer Mount w/ Headrest Support			
4" Thermal Printer Power Supply and USB Cable			
Modem - Cellular Modem Package	9	550.00	4,950.00
External Cellular Wireless Modem w/ WiFi, GPS			
External Antenna (No Drill)			
Software - Peacemaker Software Package	9	550.00	4,950.00
Peacemaker Live - Infectious Disease / Social Distancing Software			
Vehicle Specific Mount - Basic Package	9	650.00	5,850.00
On-site Vehicle Installation and Supplies Package	9	750.00	6,750.00
Vehicle Install - Mount			
Vehicle Install - Computer and Accessories			
Vehicle Install - Vehicle Power Distribution Unit w/ Timer			
Vehicle Install - Wiring Harness, Fuses			
Shipping and Handling	9	200.00	1,800.00
11 0			-,500.00

I, hereby agree to purchase All equipment and services set forth in this estimate. I understand that this estimate represents ALL equipment and services being procured under

this estimate and includes any and all commitments verbal or written. I understand that it is my responsibility to insure that the equipment and services contemplated in this estimate are complete and accurate. I understand additional charges will apply if additional equipment or services are added after acceptance of this estimate.

PLEASE SIGN AND RETURN TO:

ORDERS@PEACEMAKERTECH.COM

TOTAL	\$67,050.00

Accepted By Accepted Date

Peacemaker Technologies

1308 Common St #205 New Braunfels, TX 78130 US (866) 222-6660 Orders@peacemakertech.com



BILL TO

Cpt Dusty Cook Mineola Police Department 300 Greenville Hwy Mineola, Texas 78773 SHIP TO

Cpt Dusty Cook Mineola Police Department 300 Greenville Hwy Mineola, Texas 78773 **INVOICE 1160**

DATE 11/13/2020 **TERMS** Net 30

DUE DATE 12/13/2020

SALES REPRESENTATIVE

Leslee Martz

DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT
DATE		DESCRIF HON	QII	NATE	AWOUNT
	Software - Peacemaker Software Package	Software - Peacemaker Software Package	9	500.00	4,500.00
	PM813 - 13.3" Fully Rugged - Antimicrobial Tablet	13.3" Fully Rugged, Antimicrobial (i5, 1000nits, 256SSD, 16GB RAM, Front & Rear Cameras, GPS, 2D Image Scanner, WiFi, Bluetooth) (No RF Pass)	9	2,375.00	21,375.00
	PM813 - 13.3" Fully Rugged - Antimicrobial Docking Keyboard (No RF pass) US version	13.3" Fully Rugged - Antimicrobial Docking Keyboard (No RF pass) US version	9	380.00	3,420.00
	PM813 - Antimicrobial Vehicle Mount Cradle	Fully Rugged - Antimicrobial Vehicle Mount Cradle	9	735.00	6,615.00
	PM813 - 3yr No Fault Accidents Warranty	13.3" Fully Rugged, Antimicrobial Tablet - No Fault Accidents Warranty	9	225.00	2,025.00
	PM813 - 13.3" Fully Rugged - Vehicle Power Supply	11-16V DC Adapter 65W/ Bare Wire input by Lind	9	150.00	1,350.00
	PM813 - Vehicle Power Distribution Unit	Vehicle Power Distribution Unit with Weather Pack Wiring Kit	9	350.00	3,150.00
	PM813 - Vehicle Mount Package (Side Console) - copy	Gamber Johnson, Havis, Troy Side Console Mounting Solution	9	650.00	5,850.00
	4" Thermal Printer	4" Thermal Printer	9	750.00	6,750.00
	4" Thermal Printer Headrest Mount	4" Thermal Printer Headrest Mount	9	125.00	1,125.00
	4" Thermal Printer Power Adapter	4" Thermal Printer Power Adapter	9	50.00	450.00
	4" Thermal Printer USB Printer Cable	4" Thermal Printer USB Printer Cable	9	10.00	90.00

DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT
	Modem - Peplink Pepwave MAX Transit Mini - PrimeCare - LTE - NA & FirstNet	Modem - Peplink Pepwave MAX Transit Mini - PrimeCare - LTE - NA & FirstNet	9	450.00	4,050.00
	Modem - Ultramax Glass Mount Antenna – Black – 10' Cables	Modem - Ultramax Glass Mount Antenna – Black – 10' Cables	9	100.00	900.00
	Vehicle Installation (Full Setup)	On-site Vehicle Installation and Supplies Package	9	400.00	3,600.00
	Shipping and Handling	Shipping and Handling	9	200.00	1,800.00

Thank you for choosing Peacemaker Technologies and have a blessed day!

TOTAL DUE	\$67,050.00
-----------	-------------

RESOLUTION 20-06-22-3

WHEREAS, The City of Mineola finds it in the best interest of the citizens of Mineola, that the Coronavirus Emergency Supplemental Funding (CESF) Program be operated for 2020; and

WHEREAS, the City of Mineola agrees to provide NO MATCH for the said project as required by the Coronavirus Emergency Supplemental Funding (CESF) Program grant application; and

WHEREAS, the City of Mineola agrees that in the event of loss or misuse of the Office of the Governor funds, the City of Mineola assures that the funds will be returned to the Office of the Governor in full.

WHEREAS, the City of Mineola designates Kevin White, Mayor as the grantee's authorized official. The authorized official is given the power to apply for, accept, reject, alter or terminate the grant on behalf of the applicant agency.

NOW THEREFORE, BE IT RESOLVED that the City of Mineola approves submission of the grant application for the CESF Program to the Office of the Governor.

Signad by

Kevin White, Mayor

<u>u aa 2020</u>

Passed and Approved this 22nd of June, 2020

ATTESTED BY

Cindy Karch City Secretary

Grant Number: 4171701